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6 1. Find the limit of the following sequence of functions on the interval 0 < z < oo, if it exists.
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provided that = # 0. When z =0 {f,(0)} = {—4/11}, which has limit —4/11. Thus

nlirgo {fulz)} = {i/f/’u, i ig
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2. Find all values of the constant b for which the series of constants

= (—1y

converges. For these values of b, determine the sum of the series.

This is a geometric series with common ratio —b/3. It therefore converges when

<1 — |b] < 3.

For these values of b, the sum of the series is
(_1)2b2
33 _
1+b6/3  90b+3)

b2
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3.

(a) Find the open interval of convergence of the power series

[ee)

n
—(x — 3)*"*,
nz:?) (2n+1)5"

(b) Does the series converge at the left end point of the open interval of convergence? Justify your
answer.

(a) We begin by writing the series in the form

[ee]

(-3 m(:p — 3y,

n=3

We now set y = (x — 3)?, in which case the series (less the term outside) becomes

[ee]

> mrat
@2n+ )57 -

n=1

The radius of convergence of this series is

n
| e |
Ry =l |\ =—mg—| =5
(2n + 3)5n+1

Thus, the radius of convergence of the given series is R, = v/5. Its open interval of convergence is
—Vi<z-3<vV5 =  3-Vh<z<3+V5
(b) At x = 3 — /5, the series becomes

f: %{3 — V5 —3)2H = i —vn

= (2n+ 1)5m 2n+1

n=3
Since lim —V5n = ﬁ
n—oo 2n+1 2

, the serles diverges by the n*"-term test.
0, th ies di by the nt-t test



4 4. It is known that the power series

Z an(x —c)"
n=0

has radius of convergence R, where 0 < R < oco. Find the radius of convergence of the series
o 2
n an,
E on (z—c)™

n=0

2

o0
. . na )
The radius of convergence of the series E —(z— )" is
n=0
n%a,
n a _
R = 2 5 =2 lim " | =2R.
n—oo (n + 1) n+1 n—00 | (p41



13 5. (a) Find the Taylor series about = —2 for the function

T+ 2
)= ——.
1) (4+2)?
You must use a method that guarantees that the series converges to the function. Express
your answer in sigma notation, simplified as much as possible.

(b) What is the radius of convergence of the series?

(a)

1 1 1/2 I/ z+2\" (-1
= = = — _— = 2”
itz (@+2)+2 |, =42 2Z< 2) D e (@ "
+ 5 n=0 n=0
valid for
T+ 2
— <l = |jz42|<2 = =2<z+4+2<2 = —-4<z<0.
Differentiation gives
1 = (=1)"n _—
TGrap 2w @Y
n=0

Thus,

x = (=1t = (=1)"T
Ao o a2 = S e

n=1

(b) The radius of convergence of the series is R = 2.



